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QUESTION 1

A customer plans to purchase some c7000 blade enclosures equipped with Virtual Connect FlexFabric modules to
support its development and test team. The customer is concerned about frequent changes to the server blade
connectivity. In the initial proposal, an architect included HPE OneView, and now the customer wants to learn how HPE
OneView will address their concern.

Which HPE OneView functionality should the architect explain to the customer?

A. all external connectivity changes will be automatically discovered and server profiles will be automatically updated to
reflect the change.

B. the customer can use different plugins to visualize network and storage connectivity, and change them by using the
drag and drop method.

C. the customer can create profile templates, deploy server profiles from the template, and, if necessary, use the same
method to update server connectivity.

D. the customer can access HPE Virtual Connect Enterprise Manager and perform connectivity changes for all servers
in the same Virtual Connect Domain Group.

Correct Answer: B

QUESTION 2

A customer has an Ethernet-based storage solution. The customer needs to upgrade its servers to prepare for
expanding storage. The customer has spent a lot of money to update its Ethernet infrastructure, so does not want to
change it.

The customer has DAS and NAS-based storage and plans to implement a Fibre Channel SAN-based storage array
within the next six to eight months.

Which server-based solution meets the customer\\'s future needs?
A. HPE Apollo 8000 solutions

B. HPE DL360 solution with fibre-based HBAs

C. HPE BL460c solution with Converged Networks Adapters

D. HPE Moonshot solutions

Correct Answer: C

QUESTION 3

A customer is considering upgrading from a BL460c Gen8 to a BL460c Gen9 server. The customer needs to retain the
ESXI V5.5 boot volumes and enable UEFI secure boot mode on the new BL460c Gen 9 server.

What should the architect explain to the customer?
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A. The ESXI V5.5 volume will not boot in UEFI mode.

B. The server must be configured to support GPT boot drives.
C. ESXI V5.5 needs to be patched up to ESXI V6.

D. Secure boot mode must be enabled and certificate installed.

Correct Answer: C

QUESTION 4

A customer has 1,000 virtual machines that run on VMware ESXI servers. The customer is concerned that some of the
virtual machines may be oversized, which could affect the other virtual machines. Which HPE product should the
architect recommend to help the customer with infrastructure sizing, to improve efficiency, and to reduce cost?

A. HPE Operations Analytics for HPE OneView

B. HPE Insight Control

C. HPE Helion CloudSystem 9

D. HPE Cloud Optimizer for HPE OneView

Correct Answer: D

QUESTION 5

An architect proposes an HPE Moonshot solution with three HPE Moonshot 1500 Chassis as follows: - one chassis with
30 m710 cartridges

-two chassis with 30 m800 cartridges each

The customer wants to change the solution to use two HPE Moonshot 1500 chassis as follows:

- one chassis with 30 m710 cartridges and 15 m800 cartridges - one chassis with 45 m800 cartridges
What should the architect explain to the customer?

A. Mixing different models of cartridges in the same chassis is not supported

B. A chassis can support both m710 and m800 cartridges, but the m710 cartridges will not be able to use their
accelerators

C. Mixing different models of cartridges requires the customer to use an HPE Moonshot Provisioning Manager (MPM)

D. A chassis can support both m710 and m800 cartridges, but the m710 cartridge adapters will operate at 1Gbps rather
than 10Gbps

Correct Answer: B
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